7-196 60 17 9
(@]
1
1
= (kw)x (kwh/  m2) (kw/m2)
x (0.7)
(kw)= (m2) x (0.048kw/m2)
= (kwh/ )x ( "2 (0.8)
= (Nm3/  )x 0.4
20KW 0.048KW/ X (10, 000kcal/Nm3) (860kcal/kwh
1kw/ 600
0.7
500 "
25 y = 0.2006x o
400 -
. L)
)
300 =
<.
N <
200 /
100
0.8
0 . . . . .
2 0 500 1,000 1,500 2,000 2,500 3,000
0.8 3/
1
80 0.05
25
640-8510 930 073-457-8348

-391-




7-196

0.186
50
2 3
50
34,326Gkwh
1,544Gkwh
1980
2030
1) 14
2) 14
3)
4) SOLAR CLINIC(
5)
6)
7)
8)

= CGS

60
35,000,000
0.4 30,000,000
25,000,000
0.158 20,000,000
0.8
15,000,000

<
§ 10,000,000

5,000,000

n
]

2005 2009 2013 2017 2021 2025 2029 2033 2037 2041 2045 2049 2053

2

2,500,000

2,000,000

1,500,000

1,000,000

UM

500,000

I ﬂ ﬂﬂ

2905 2009 2013 2017 2021 2025 2029 2033 2037 2041 2045 2049 2053

100

2005

)
)
FS

)

10 15

20 25 30 35 40 45 50

http://ww.jyuri.co.jp/solarclinic/genhowto.htm
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